? (A 27H)

B
|
™~

k-

oy
S
o|l

ol

@ Z+e] 2717t 90° o]t

2 Ztole}.

@ 90° Kot 331 180° K}
® Zte] 47171 180° ol

¥
@ 0° Hr} 337 90° Hr}



2.




o
A

<k
il

ﬂ
o

Ho

st

3

3

I

O]



4. g IHA LAOE = 2x, /BOC = 3x & 1], zx o] 7|9

Ay E

27,

@® 12° @ 14° ® 16° @ 18° ® 20°



5.

thS 23 Al 2 Ado] ohSat Zo] ghd wjj A7) = gk
9 42171
l
m
n
@ 3% @ 2% @ 1%
@ gltt ® F439] gt



6.

the Io] Bt Aoz g 2e?

®©@ ® © 0 ©

Q. R 24 m $19] 9k,
= 24 5 §oll A 3t

+ A4 137k m flel ek



IS AA715S 7 52 B =0l A2 AB <f

<

W YA Sl BA ] AE FohE?

D
A

® 174 @ 27 @ 37 @ 4 7 ® 574



@ 07} @ 170 @ 271 @ 374 ® 4 7



9. o IH2AB=16cm € W, M2 AB 2 4, A N2 MB 9
ZZolt}. AN 9] do]x9

_---1l6ecm--__ _

A M N B

@ 12cm @ 13cm ® 1l4cm @ 15cm ® 16cm



A

o
H
1

rlo

ohe 1T 28 AZHY ABCD o Tt thg A % &
=

A D

@ H Cold Ad AB ol i #419] H2 4 B o|tt.
@ (ADC = 90°

® A D oA 24 AB Aol ] A= AD 9] Zojo|tt.
@ 3 C oA A4 AB Ato]9] 7 2li= AB 9 Zojo|t},

® A A A FHd BC o i 49 2 A D ol

AD
AB



ol

olJ
o8

olig
Nfo

ojn

11.

st

2

H2 Az 3

R

o 5291 5

—_—

q
ﬂo
olp
X

olJ
ﬂo

)
Ile]
oA

o



12, ohe 293 2o

472 T

@ 1A

5)
2~ ol
—F‘Id]\t'

@ 27

® 374

@ 47

Ce

o>

Te

® 574

eS|



13. oh& J8eA LAOC = 3.COD , /DOB = 4/DOE ¥ wj, ZCOE 9]
A71& F-shH?

TJe

@ 30° @ 36° @ 40° @ 45° ©® 48°



75!

) s

R ™ T
T KA N
o o8 k-
o M A
oy R ok
m = T X =
T Y R
T % oy oF
GG S
o B B B R

)
@
®
@
®



15. o= I"9 A471s0lA ot
BAEE?

Oo =
=K<}

B EF 2 2291 $17

2

o

o]
AR

rr



